TEMPETZ A B ORSAT R AR EE

Ve
e

2=

(A Fn34E4H %))
1 H AOE K = A R AR O R S =
4 A CO YA 7o GRS GIRESN: !

e $ofitke $oitkg || BdE(Akg WA\ k| $EBke  [fTHE%| HECke | A/C% | RIAKEDkKe | A/D% | REHEEEkKe | B/E%
BARRAE A A 388,460.0 388,460.0| 1 388,460.0 100.0 | 1 388,460.0| 100.0 447,170.0| 86.9 414,350.0| 93.8 414,350.0| 93.8
A= AN A 42,040.0 42,040.0| 2 42,040.0 100.0 | 2 42,040.0{ 100.0 30,000.0( 140.1 52,060.0{ 80.8 52,060.0{ 80.8
BRI 11 (BE) 3,017,150.0] 3,017,150.0| 2 | 2,354,550.0| 78.0 | 2 | 2,354,550.0| 78.0 | 1,983,750.0| 118.7 | 1,942,930.0| 121.2 | 1,942,930.0| 121.2
RERREIMET Ao 1 () 0.0 0.0] 0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0
BRI = A  (H) 0.0 0.0] 0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0

& & 3,447,650.0| 3,447,650.0] 5 | 2,785,050.0| 80.8 | 5 | 2,785,050.0| 80.8 | 2,460,920.0| 113.2 | 2,409,340.0| 115.6 | 2,409,340.0| 115.6
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(A Fn34E5H 47)
1 H AOE K = A R AR O R S =
4 A CO YA 7o GRS GIRESN: !

e $ofitke $oitkg || BdE(Akg WA\ k| $EBke  [fTHE%| HECke | A/C% | RIAKEDkKe | A/D% | REHEEEkKe | B/E%
BARRAE A A 435,342.0 823,802.0| 0 341,760.0| 78.5 | 1 730,220.0| 88.6 388,460.0| 88.0 435,840.0| 78.4 850,190.0| 85.9
A= AN A 46,040.0 88,080.0| 2 46,040.0 100.0 | 4 88,080.0( 100.0 42,040.0( 109.5 42,040.0| 109.5 94,100.0| 93.6
BRI 11 (BE) 2,633,923.0] 5,651,073.0| 1 | 1,948,160.0| 74.0 | 3 | 4,302,710.0| 76.1 | 2,354,550.0| 82.7 1,752,660.0| 111.2 | 3,695,590.0| 116.4
RERREIMET Ao 1 () 0.0 0.0] 0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0
BRI = A  (H) 0.0 0.0] 0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0

& & 3,115,305.0|  6,562,955.0| 3 | 2,335,960.0| 75.0 | 8 | 5,121,010.0] 78.0 | 2,785,050.0| 83.9 2,230,540.0| 104.7 |  4,639,880.0| 110.4
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(A Fn34E6 A 47)
1 H AOE K = A R AR O R S =
4 A CO YA 7o GRS GIRESN: !

e $ofitke $oitkg || BdE(Akg WA\ k| $EBke  [fTHE%| HECke | A/C% | RIAKEDkKe | A/D% | REHEEEkKe | B/E%
BARRAE A A 480,093.0| 1,303,895.0] 1 304,530.0| 63.4 | 2 | 1,034,750.0| 79.4 341,760.0| 89.1 455,950.0| 66.8 1,306,140.0| 79.2
A= AN A 27,060.0 115,140.0 2 27,060.0{ 100.0 | 6 115,140.0| 100.0 46,040.0| 58.8 51,000.0| 53.1 145,100.0| 79.4
BRI 11 (BE) 2,285,066.0]  7,936,139.0| 2 | 1,844,730.0| 80.7 | 5 | 6,147,440.0| 77.5 | 1,948,160.0| 94.7 1,843,000.0| 100.1 | 5,538,590.0| 111.0
RERREIMET Ao 1 () 0.0 0.0] 0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0
BRI = A  (H) 0.0 0.0] 0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0

& & 2,792,219.0| 9,355,174.0| 5 | 2,176,320.0| 77.9 | 13| 7,297,330.0| 78.0 | 2,335,960.0| 93.2 2,349,950.0| 92.6 6,989,830.0| 104.4
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TEMPETZ A B ORSAT R AR EE
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(F34E7H47)
1 H AOE K = A R AR O R S =
4 A CO YA 7o GRS GIRESN: !

e $ofitke $oitkg || BdE(Akg WA\ k| $EBke  [fTHE%| HECke | A/C% | RIAKEDkKe | A/D% | REHEEEkKe | B/E%
BARRAE A A 425,562.0| 1,729,457.0| 0 308,040.0| 72.4 | 2 | 1,342,790.0| 77.6 304,530.0| 101.2 378,670.0[ 81.3 1,684,810.0( 79.7
A= AN A 41,120.0 156,260.0 2 41,120.0| 100.0 | 8 156,260.0| 100.0 27,060.0| 152.0 39,000.0| 105.4 184,100.0| 84.9
BRI 11 (BE) 2,318,028.0| 10,254,167.0| 2 | 1,902,310.0{ 82.1 | 7 | 8,049,750.0| 78.5 | 1,844,730.0| 103.1 | 1,977,430.0| 96.2 7,516,020.0| 107.1
RERREIMET Ao 1 () 0.0 0.0] 0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0
BRI = A  (H) 0.0 0.0] 0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0

& & 2,784,710.0| 12,139,884.0| 4 | 2,251,470.0| 80.9 | 17| 9,548,800.0| 78.7 | 2,176,320.0| 103.5 | 2,395,100.0| 94.0 9,384,930.0| 101.7

(I AABMBRE =)




TEMPETZ A B ORSAT R AR EE
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(A Fn34E8 A 47)
1 H AOE K = A R AR O R S =
4 A CO YA 7o w A B4 A OA

e ¥ fikkg ¥ fikkg i(Wkg  |HATR% || HE@ke  |HAR%| BEOks | A/C% | AAKEDke | A/D% | REHEDBKe | B/E%
BARRAE A A 414,242.0|  2,143,699.0 331,990.0| 80.1 | 3 | 1,674,780.0| 78.1 308,040.0| 107.8 437,970.0| 75.8 2,122,780.0| 78.9
A= AN A 41,060.0 197,320.0 41,060.0{ 100.0 | 10 197,320.0( 100.0 41,120.0] 99.9 32,060.0| 128.1 216,160.0| 91.3
BRI 11 (BE) 2,226,610.0 12,480,777.0 1,640,200.0| 73.7 | 8 | 9,689,950.0| 77.6 | 1,902,310.0| 86.2 1,714,850.0[ 95.6 9,230,870.0| 105.0
RERREIMET Ao 1 () 0.0 0.0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0
BRI = A  (H) 0.0 0.0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0

& & 2,681,912.0| 14,821,796.0 2,013,250.0{ 75.1 | 21| 11,562,050.0| 78.0 | 2,251,470.0| 89.4 2,184,880.0{ 92.1 | 11,569,810.0| 99.9

(I AABMBRE =)




TEMPETZ A B ORSAT R AR EE
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(A Fn34E9 A 47)
1 H AOE K = A R AR O R S =
4 A CO YA 7o w A B4 A OA

e ¥ fikkg ¥ fikkg i(Wkg  |HATR% || HE@ke  |HAR%| BEOks | A/C% | AAKEDke | A/D% | REHEDBKe | B/E%
BARRAE A A 538,638.0|  2,682,337.0 361,460.0] 67.1 | 3 | 2,036,240.0| 75.9 331,990.0| 108.9 339,290.0 106.5 | 2,462,070.0| 82.7
A= AN A 33,080.0 230,400.0 33,080.0| 100.0 | 12 230,400.0| 100.0 41,060.0| 80.6 31,060.0| 106.5 247,220.0 93.2
BRI 11 (BE) 2,570,136.0| 15,050,913.0 2,072,560.0| 80.6 | 10| 11,762,510.0| 78.2 | 1,640,200.0| 126.4 | 2,288,900.0| 90.5 | 11,519,770.0| 102.1
RERREIMET Ao 1 () 0.0 0.0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0
BRI = A  (H) 0.0 0.0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0

& & 3,141,854.0| 17,963,650.0 2,467,100.0| 78.5 | 25| 14,029,150.0| 78.1 | 2,013,250.0| 122.5 | 2,659,250.0| 92.8 | 14,229,060.0| 98.6
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TEMPETZ A B ORSAT R AR EE
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(B Fn34E10 A 43)
1 H AOE K = A R AR O R S =
4 A CO YA 7o w A B4 A OA

e ¥ fikkg ¥ fikkg BRAWkg  [BR%|1H%|  HEBkKe  [HAR%|  EKEOkg [F A $ B (Dkg | A/D% | REHEEEke | B/E%
BARRAE A A 530,252.0|  3,212,589.0 378,390.0| 71.4 | 4 | 2,414,630.0| 75.2 361,460.0 488,510.0| 77.5 2,950,580.0 81.8
A= AN A 32,060.0 262,460.0 32,060.0| 100.0 | 14 262,460.0| 100.0 33,080.0 21,100.0| 151.9 268,320.0| 97.8
BRI 11 (BE) 2,226,175.0 17,277,088.0 1,777,640.0| 79.9 | 12| 13,540,150.0| 78.4 | 2,072,560.0 1,998,100.0| 89.0 | 13,517,870.0| 100.2
RERREIMET Ao 1 () 0.0 0.0 0.0 0.0 [0 0.0] 0.0 0.0 0.0 0.0 0.0 0.0
BRI = A  (H) 0.0 0.0 0.0 0.0 [0 0.0] 0.0 0.0 0.0 0.0 0.0 0.0

& & 2,788,487.0| 20,752,137.0 2,188,090.0{ 78.5 | 30 | 16,217,240.0| 78.1 | 2,467,100.0 2,507,710.0| 87.3 | 16,736,770.0| 96.9
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TEMPETZ A B ORSAT R AR EE
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(B Fn34E11 A 43)
1 H AOE K = A R AR O R S =
4 A CO YA 7o w A B4 A OA

e ¥ fikkg ¥ fikkg i(Wkg  |HATR% || HE@ke  |HAR%| BEOks | A/C% | AAKEDke | A/D% | REHEDBKe | B/E%
BARRAE A A 485,295.0|  3,697,884.0 300,450.0| 61.9 | 4 | 2,715,080.0| 73.4 378,390.0| 79.4 98,970.0| 303.6 | 3,049,550.0| 89.0
A= AN A 52,080.0 314,540.0 52,080.0| 100.0 | 16 314,540.0| 100.0 32,060.0| 162.4 41,180.0| 126.5 309,500.0| 101.6
BRI 11 (BE) 2,524,440.0| 19,801,528.0 1,842,420.0| 73.0 | 13| 15,382,570.0| 77.7 | 1,777,640.0| 103.6 | 1,934,880.0| 95.2 | 15,452,750.0| 99.5
RERREIMET Ao 1 () 0.0 0.0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0
BRI = A  (H) 0.0 0.0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0

& & 3,061,815.0| 23,813,952.0 2,194,950.0| 71.7 | 33| 18,412,190.0| 77.3 | 2,188,090.0| 100.3 | 2,075,030.0| 105.8 | 18,811,800.0| 97.9
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TEMPETZ A B ORSAT R AR EE
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(B Fn34E12 4 43)
1 H AOE K = A R AR O R S =
4 A CO YA 7o GRS GIRESN: !

e $ofitke $oitkg || BdE(Akg WA\ k| $EBke  [fTHE%| HECke | A/C% | RIAKEDkKe | A/D% | REHEEEkKe | B/E%
BARRAE A A 422,907.0|  4,120,791.0] 1 267,730.0| 63.3 | 5 | 2,982,810.0| 72.4 300,450.0| 89.1 454,510.0| 58.9 3,504,060.0| 85.1
A= AN A 20,000.0 334,540.0| 2 20,000.0{ 100.0 | 18 334,540.0| 100.0 52,080.0 38.4 30,000.0 66.7 339,500.0| 98.5
BRI 11 (BE) 2,669,500.0| 22,471,028.0| 2 | 2,075,440.0| 77.7 | 15| 17,458,010.0| 77.7 | 1,842,420.0| 112.6 | 2,023,430.0| 102.6 | 17,476,180.0| 99.9
RERREIMET Ao 1 () 0.0 0.0] 0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0
BRI = A  (H) 0.0 0.0] 0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0

& & 3,112,407.0| 26,926,359.0| 5 | 2,363,170.0| 75.9 | 38| 20,775,360.0| 77.2 | 2,194,950.0| 107.7 | 2,507,940.0| 94.2 | 21,319,740.0| 97.4

(I AABMBRE =)




TEMPETZ A B ORSAT R AR EE
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(Fn4fE1 A %))
1 H AOE K = A R AR O R S =
4 A CO YA 7o GRS GIRESN: !

e $ofitke $oitkg || BdE(Akg WA\ k| $EBke  [fTHE%| HECke | A/C% | RIAKEDkKe | A/D% | REHEEEkKe | B/E%
BARRAE A A 171,210.0|  4,292,001.0| 0 114,380.0| 66.8 | 5 | 3,097,190.0| 72.2 267,730.0| 42.7 354,870.0[ 32.2 3,858,930.0| 80.3
A= AN A 22,040.0 356,580.0( 2 22,040.0{ 100.0 | 20 356,580.0| 100.0 20,000.0( 110.2 42,040.0| 52.4 381,540.0| 93.5
BRI 11 (BE) 2,385,622.0| 24,856,650.0| 2 | 2,073,080.0| 86.9 | 17| 19,531,090.0| 78.6 | 2,075,440.0| 99.9 1,496,800.0| 138.5 | 18,972,980.0| 102.9
RERREIMET Ao 1 () 0.0 0.0] 0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0
BRI = A  (H) 0.0 0.0] 0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0

& & 2,578,872.0| 29,505,231.0| 4 | 2,209,500.0| 85.7 | 42| 22,984,860.0| 77.9 | 2,363,170.0| 93.5 1,893,710.0| 116.7 | 23,213,450.0| 99.0
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(A Fn4tE2 A 47)
1 H AOE K = A R AR O R S =
4 A CO YA 7o w A B4 A OA

e ¥ fikkg ¥ fikkg i(Wkg  |HATR% || HE@ke  |HAR%| BEOks | A/C% | AAKEDke | A/D% | REHEDBKe | B/E%
BARRAE A A 419,190.0|  4,711,191.0 328,480.0| 78.4 | 6 | 3,425,670.0| 72.7 114,380.0| 287.2 267,040.0{ 123.0 | 4,125,970.0| 83.0
A= AN A 40,000.0 396,580.0 40,000.0{ 100.0 | 22 396,580.0| 100.0 22,040.0| 181.5 31,040.0| 128.9 412,580.0| 96.1
BRI 11 (BE) 2,615,867.0 27,472,517.0 2,054,070.0| 78.5 | 18| 21,585,160.0| 78.6 | 2,073,080.0| 99.1 1,847,040.0| 111.2 | 20,820,020.0| 103.7
RERREIMET Ao 1 () 0.0 0.0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0
BRI = A  (H) 0.0 0.0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0

& & 3,075,057.0| 32,580,288.0 2,422,550.0| 78.8 | 46 | 25,407,410.0| 78.0 | 2,209,500.0| 109.6 | 2,145,120.0| 112.9 | 25,358,570.0| 100.2
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(A Fn44E3 A 47)
1 H AOE K = A R AR O R S =
4 A CO YA 7o GRS GIRESN: !

e $ofitke $oitkg || BdE(Akg WA\ k| $EBke  [fTHE%| HECke | A/C% | RIAKEDkKe | A/D% | REHEEEkKe | B/E%
BARRAE A A 381,037.0|  5,092,228.0| 0 318,060.0| 83.5 | 6 | 3,743,730.0| 73.5 328,480.0| 96.8 447,170.0| 71.1 4,573,140.0| 81.9
A= AN A 42,060.0 438,640.0 2 42,060.0( 100.0 | 24 438,640.0| 100.0 40,000.0{ 105.2 30,000.0( 140.2 442,580.0| 99.1
BRI 11 (BE) 2,295,876.0| 29,768,393.0| 2 | 1,772,120.0| 77.2 | 20| 23,357,280.0| 78.5 | 2,054,070.0| 86.3 1,983,750.0| 89.3 | 22,803,770.0| 102.4
RERREIMET Ao 1 () 0.0 0.0] 0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0
BRI = A  (H) 0.0 0.0] 0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0

& & 2,718,973.0| 35,299,261.0| 4 | 2,132,240.0| 78.4 | 50| 27,539,650.0| 78.0 | 2,422,550.0| 88.0 2,460,920.0| 86.6 | 27,819,490.0| 99.0
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